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Q6. __________ is the synonym of "DELICIOUS". 
 

A. Cheerful B. Tasty 

C. Beautiful D. Splendid 

 

Q7. __________ is the antonym of "CHARMING". 
 

A. Pleasant B. Bright 

C. Unattractive D. Charismatic 

 

Q8. Identify the meaning of the idiom "blessing in disguise". 
 

A. An incorrect action now rectified B. Something good that is not recognized at first 

C. To help someone without him/her knowing 

about it 

D. To request help for someone else 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
"The impact of the epidemic was rather worst than the officials had expected". 

 

A. was rather worser B. is rather worser 

C. is rather worst D. was rather worse 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
Our family ___ (be) living here for more than 10 years. 

 

A. will be B. has been 

C. are D. would be 

 

Q11. _________ was the official mascot for the Men's Hockey World Cup, held at the Kalinga 
Stadium from November 28 to December 16, 2018, in Odisha. 

 

A. 'Olly' (Turtle) B. Stockey the stork 

C. Zakumi D. Fuleco 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 45, Draughtsman (Mechanical) Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 17, 2019  Page 3 of 29 

 

Q11. �)?>? �O  �) ?� }�O)?0/ /O 28 )=?-1 @O 16 )?@?-1, 2018 /O �0K)?- +Jy? AQ�ी )=� �+ �O  ) � �)?�?र1� >J.?�1 
_________ .?। 

 

A. 8�लI9 (��I �) B. }टK�I . }टI��  

C. ज़�ू/I D. ,ूलO�K 
 

Q12. ________ is considered to be the founder of the Maratha Empire. 
 

A. Chhatrapathi Shivaji B. Shahaji Bhonsale 

C. Chhatrapathi Sambhaji D. Chhatrapathi Shahu I 

Q12. ________ �K /1? ? @?्䵞?जᱍ0 �? @?}.?+� /?)? ??-? AP। 
 

A. �}+-? ??=?�I B. ??:�I .ो䬂9लO 

C. �}+-? 9�.?�I D. �}+-? ??:ू �-/ 

 

Q13. R K Narayan's book, ________, was adapted for film and for Broadway. 
 

A. Tigers of Malgudi B. The Guide 

C. Swami and Friends D. Miss Malini 

Q13. �1 �O  )?1?0, �ी +J}-�, ________ �K )?ल㉍/ �1 ्䵜Q?=O �O  ) � 
)J�K ) - �ी �� .I। 
 

A. ट?��9� �फ⬼ /?ल�I)I B. . �?�ड 

C. }=?/I ��ड �े䜂 ड⅍9 D. ?/9 /??ल0I 
 

Q14. World Wildlife Day is celebrated worldwide on __________ every year. 
 

A. June 21st B. March 3rd 

C. December 22nd D. April 22nd 

Q14. )=� =m0?I= )?=@ A1 @?  __________ �K ?J))0? .1 /O /)?0? ??-? AP। 
 

A. 21 �ू0 B. 3 /?}� 

C. 22 /.9�-1 D. 22 
�Pल 
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Q15. The Battle of Karnal in 1739 was the supreme triumph of___________, the great Persian 
king and military commander. 

 

A. Khan Dauran B. Sa'adat Khan 

C. Nadir Shah D. Muhammad Shah 

Q15. 1739 /O �1)?  �ी  )?�, /A?) ??1@I 1??? �1 @Pm0 �/???1 ___________ �ी @=Kचᩍ� )=?0 .I। 
 

A. �?0 डL10 B. 9�.? �?0 

C. 0?/.1 ??: D. /I:म⹍/. ??: 
 

Q16. Markanda river was called ____________ in ancient India. 
 

A. Ashwini B. Aruna 

C. Aatreya D. Ambala 

Q16. /?�� ? )?I �K �?�I) .?1- /O ____________ �A? ??-? .?। 
 

A. 
�==0I B. 
y+? 

C. �}O0? D. 
म⹍-?ल? 
 

Q17. Who has been the Chief Minister of Haryana for the most number of terms? 
 

A. Om Prakash Chautala B. Chaudhary Devi Lal 

C. Bansi Lal D. Manohar Lal Khattar 

Q17. @-@O जᱍ0??? @/0 -� 
+)O +? +1 1A)O =? O Aर10?,? �O  /J_0/?}I �L) Aै䠂? 
 

A. ओ/ ��?? }Lट?ल? B. }L/1I .O=I ल?ल 

C. -�9I ल?ल D. /0K:1 ल?ल �टὍट1 
 

Q18. Haryana stood _________ in Khelo India Youth Games 2019. 
 

A. Second B. First 

C. Third D. Fourth 
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Q18. Aर10?,? �? �O K �?)?0? 0K. �Oम⹍@ 2019 /O _________}.?) .?। 
 

A. .9ू1? B. �-/ 

C. ?I91? D. }L-? 
 

Q19. India's first-of-its-kind ________ was inaugurated in Gurugram in April 2019. 
 

A. Theme Park B. Voter Park 

C. Water Park D. Toy Park 

Q19. .?1- �O  +A O 
+)I -1A �O  �� ________ �? ��?�) 
�P  2019 /O �Jy्䵇?/ /O )�0? �0? .?। 
 

A. -I/ +?��  B. =Kट1 +?��  

C. =?ट1 +?��  D. टI0 +?��  
 

Q20. Haryana Governor Satyadev Narayan Arya hoisted the national flag in which district of 
Haryana on 26th January 2019? 

 

A. Faridabad B. Panchkula 

C. Ambala D. Jhajjar 

Q20. Aर10?,? �O  1?जᱍ0+?  @त⑍0?O= )?1?0, �0/ )O 26 ?)=1I 2019 �K Aर10?,? �O  )�@ )? O /O 1?�रI0 o=? ?A1?0?? 
 

A. ,1I.?-?. B. +�}�I ल? 

C. 
�-?ल? D. �जᱍ�1 
 

Q21. Nine farmers were awarded the Haryana Krishi Ratan Award in February 2019. How 
many female farmers were among the winners? 

 

A. Four B. Three 

C. Two D. One 

Q21. ?1=1I 2019 /O )L )�@?)K �K Aर10?,? �L )? 1-) +J1}�?1 @O @म⹍/?))- )�0? �0?। )=?O-?� ? /O )�-)I /)A ? )�@?) .ी䀂? 
 

A. }?1 B. ?I0 

C. .K D. �� 
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Q22. Which cricketer from Haryana was selected in to be a part of the Indian Cricket World 
Cup team in 2019? 

 

A. Bhuvneshwar Kumar B. Jaspreet Bumrah 

C. Kuldeep Yadav D. Yuzvendra Chahal 

Q22. Aर10?,? �O  )�@ )ि�O �1 �K .?1-I0 )ि�O � )=� �+ �I/ 2019 �? )A}@? -))O �O  ) � �J)? �0? .?? 
 

A. .I=0O==1 �I /?1 B. �9�I? -I/1?: 

C. �I ल.I+ 0?.= D. 0I�=े䜂� }:ल 

 

Q23. In February each year, the Festival of Gardens is hosted in _________. There are music 
and dance performances, events for children and exhibitions also. 

 

A. Chandigarh Rock Garden B. Chandigarh Rose Garden 

C. Morni Tikkar Taal D. Panchkula Sarkaria Cactus Garden 

Q23. A1 @?  ?1=1I /O, �o?) /AKत⑍@= _________ /O �0K)?- )�0? ??-? AP। =A?? @?�I- �1 )Lत⑍0 �?>/), -चᩍ�K �O  ) � �?0/ि/ 
�1 �?>/))0?? .I  �-I Aै䠂। 

 

A. }�डI�? 1I� �?ड�0 B. }�डI�? 1K� �?ड�0 

C. /K10I /ट]�1 ??ल D. +�}�I ल? 91�?1I �P ]ट9 �?ड�0 

 

Q24. In which folk dance form of Haryana do men dance around the grave of a saint and sing 
songs in praise of the popular regional saint? 

 

A. Loor B. Jhumar 

C. Gugga D. Ghoomar 

Q24. Aर10?,? �O  )�@  K� )Lत⑍0 /O +Jy?K �� @?- �ी �्䵜 �O  �@+?@ )Lत⑍0 �1-O Aै䠂 �1  K�)�0 �O}I0 @?- �ी �>?@? /O �?)O �?-O Aै䠂? 
 

A. ल1ू B. �/ू1 

C. �I_�? D.  ू/1 
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Q25. The tag line of comic poet Shri. Surendra Sharma is ______________. 
 

A. Ek baat suna rahiya hu B. Chaar laina suna ryo hu 

C. Chaar ko rukiya hu D. Ek lina chutkula suna rahiya hu 

Q25. A?}0 �)= ्䵦I @J1O� >/?/ �ी �P�  ?�) ______________ AP। 
 

A. �� -?? 9I0? 1/:0? :ू B. }?1 लP0? 9I0? 10K :ू 

C. }?1 �K y��0? :ू D. �� लI0? }Iट�I ल? 9I0? 1/:0? :ू 
 

Q26. Haryanvi language does not have any influence of ____________. 
 

A. Hindi B. Braj 

C. Pali D. Urdu 

Q26. ____________ +1 Aर10?,=I .??? �? �K� �.?= )Aी䀂 AP। 
 

A. /:�.I B. }� 

C. +?लI D. �.ू� 
 

Q27. The Hali Award is given by the Haryana __________ Sahitya Academy for the 
contribution in the field of _______________. 

 

A. Urdu, Hindi B. Hindi, Haryanvi 

C. Urdu, Urdu D. Urdu, Haryanvi 

Q27. A? I +J1}�?1 Aर10?,? __________ @?)Aत⑍0 
�??/I �?1? _______________ �O  �O} /O 0K�??) �O  ) � )?0? ??-? AP। 
 

A. �.ू�, /:�.I B. /:�.I, :910?+=I 

C. �.ू�, �.ू� D. �.ू�, :910?+=I 
 

Q28. The southern-most tip of Haryana is in the ____________ district. 
 

A. Nuh B. Mahendragarh 

C. Palwal D. Rewari 
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Q28. Aर10?,? �? @-@O ?)�,I �K1 ____________ )? O /O AP। 
 

A. 0I: B. /:े䜂��? 

C. +ल=ल D. 1O=?)I 
 

Q29. The Hathnikund Dam is built across the River ______________. 
 

A. Kaushalya B. Ghaggar 

C. Markanda D. Yamuna 

Q29. A.)I�J? ? -??? ______________ )?I +1 -)?0? �0? AP। 
 

A. �L?ल㉍0? B.  _�1 

C. /?�ंड D. 0/I0? 
 

Q30. _____________ is famous for its henna production. 
 

A. Panchkula B. Karnal 

C. Chandigarh D. Faridabad 

Q30. _____________ 
+)I /OA?I �O  �त⑍+??) �O  ) � �)@p AP। 
 

A. +�}�I ल? B. �10?ल 

C. }�डI�? D. ,1I.?-?. 
 

Q31. The Chaudhary Bansi Lal University is located in the_______ district of Haryana. 
 

A. Yamuna Nagar B. Bhiwani 

C. Rewari D. Ambala 

Q31. �L?1I -?@I  ?  )=�)=o? 0, Aर10?,? �O  _______ )? O /O )}.- AP। 
 

A. 0/I0? 0�1 B. ?.=?0I 

C. 1O=?)I D. 
म⹍-?ल? 
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Q32. The biggest agricultural university in Asia, Chaudhry Charan Singh Haryana Agricultural 
University is located in _____________. The university was a significant contributor to 
the Green Revolution. 

 

A. Hisar B. Sirsa 

C. Rewari D. Karnal 

Q32. �)>0? �? @-@O -)? �L )? )=�)=o? 0, �L?1I �1, )@?A Aर10?,? �L )? )=�)=o? 0 _____________ /O )}.- AP। �@ 
)=�)=o? 0 )O Aर1- ि??)- /O �� /Aत⑍=+K,/ 0K�??) )?0? .?। 

 

A. /:9?1 B. ?919? 

C. 1O=?)I D. �10?ल 

 

Q33. Bhiwani was the largest district in terms of area before the creation of Charkhi Dadri as a 
separate district in Haryana. ___________ is now the largest district of Haryana. 

 

A. Sirsa B. Charkhi Dadri 

C. Rewari D. Mahendragarh 

Q33. Aर10?,? /O �� 
 � )? O �O  z+ /O �1�I ???1I �O  ))/?/, @O +A O �O}?  �ी o)? @O ).=?)I @-@O -)? )? ? .?।  O)�) 
- 
___________ Aर10?,? �? @-@O -)? )? ? AP। 

 

A. ?919? B. }1�I .?.1I 

C. 1O=?)I D. /:े䜂��? 
 

Q34. The ___________ portal of the Haryana Police will enable citizens to avail online police 
services such as character verification and lodging a complaint. 

 

A. E-Police B. Haryana Police Online 

C. HarSamay D. Aap Ka Police 

Q34. Aर10?,? +J) @ �? ___________ +K�/ , )?�र1�K �K �) ?�) +J) @ @O=?� ? ?P@O )� �र1} �? @त⑍0?+) �1 )>�?0- ??/ 
�1?)O /O @�/ -)?��?। 

 

A. �-+I?ल9 B. :910?+? +I?ल9 �0ल?�0 

C. :19/0 D. �+ �? +I?ल9 
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Q35. Which of the following options is NOT the purpose of the Kaushalya Dam built on the 
Kaushalya river? 

 

A. Generate electricity B. Provide drinking water supply to Panchkula city 

C. Recharge ground water D. Check flash floods 

Q35. �)/O @O �L), �L>ल㉍0? )?I +1 )))//- �L>ल㉍0? -??? �? �oO�0 )Aी䀂 AP? 
 

A. --�लI +P.? �10? B. +�}�I ल? ?:1 /े䜂 +I0O �O  +?0I �I �+-ू?� �10? 

C. .�ूल �? +I0.�1+ D. 
}?0� �0O =?लI -?? �K 1K�0? 
 

Q36. ________ is one of the largest producers of scientific and surgical instruments in the 
country and home to a large number of scientific instrument manufacturers. 

 

A. Rohtak B. Ambala 

C. Panchkula D. Rewari 

Q36. ________ ?O> /O =P_?))� �1 @)?/�  �+�1,K �O  @-@O -)O �त⑍+??�K /O @O �� AP �1 -)I @?_0? /O =P_?))� 0?} ))/?/-?� ? 
�? �? AP। 

 

A. 1K:?� B. 
म⹍-?ल? 

C. +�}�I ल? D. 1O=?)I 
 

Q37. Lotus is the ___________ flower of Haryana. 
 

A. most commonly found B. rarest 

C. state D. most cultivated 

Q37. �/ , Aर10?,? �? ___________ ?K   AP। 
 

A. 9-9O 
//� +?0? �?0O =?ल? B. 0?0?- 

C. 1?��I0 D. 9-9O जᱍ0?.? �O?I ��0? �?0O =?ल? 
 

Q38. Which of the following is not a computer bus? 
 

A. Clock bus B. Data bus 

C. Address bus D. Control bus 
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Q38. ))म⹍)) )�- /O @O �L) �? o0K�1 -@ )Aी䀂 AP? 
 

A. ]लI� -9 B. डOट? -9 

C. �्䵑O9 -9 D. �� ्䵏Kल -9 

 

Q39. Which one of the following is a type of volatile memory? 
 

A. Hard disk B. Printer 

C. ROM D. RAM 

Q39. ))म⹍)) )�- /O @O �L) @I �� ��?1 �ी 
)}.1 /O/K1I AP? 
 

A. :?ड� )ड}� B. o��ट1 

C. ROM D. RAM 

 

Q40. Find the odd-one out in the following: 
Kidney, Eye, Ear, Heart 

 

A. Kidney B. Ear 

C. Heart D. Eye 

Q40. ))म⹍)) )�- /O @O 
@?�- �? �0) �1O: 
�J??/, �?�, �?), )?  

 

A. �I.?� B. �?0 

C. /.ल D. ��� 

 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 
the original pair: 
Zoology:Animals::Anthology: ? 

 

A. Plants B. Soil 

C. Planets D. Flower 
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Q41. @AI )=�ल㉍+ �J)O ?K /K  ?K)I ?P@? @म⹍-m? )?�?-? AK: 
?K Q?I : +>J :: �?.K Q?I : ? 

 

A. +L/O B. ?/टὍटI 

C. ्䵇: D. ,ूल 

 

Q42. Find the number that comes in the place of question (?) mark. 
1, 2, 4, 4, 9, 6, 16, 8 , 25, 10, 36, 12, 49, 14, ?, 16 

 

A. 81 B. 72 

C. 64 D. 56 

Q42. �्䵞 (?) )�mA �O  }.?) +1 �L) @I @?_0? AK�I? 
1, 2, 4, 4, 9, 6, 16, 8 , 25, 10, 36, 12, 49, 14, ?, 16 

 

A. 81 B. 72 

C. 64 D. 56 

 

Q43. If X is the sister of the son of Y's daughter. How is X related to Y? 
 

A. X is the sister of Y B. Y is the aunt of X 

C. X is the granddaughter of Y D. X is the daughter of Y 

Q43. 0)? X, Y �ी -O�I �O  -O�O �ी -A) AP -K X, Y @O �P @O @?-?)?- AP? 
 

A. X, Y �I -:0 :P B. Y, X �I }?}I :P 

C. X, Y �I +K?I :P D. X, Y �I -OटI :P 
 

Q44. 75 % of 480 + ?% of 620 = 577 
 

A. 75 B. 55 

C. 45 D. 35 

Q44. 480 �? 75% + 620 �? ?% = 577 
 

A. 75 B. 55 

C. 45 D. 35 
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Q45. A car covers a distance of 540 kilometers travelling at a speed of 45 kilometers per hour. 
At what speed should the car travel to cover the same distance in half the initial time? 

 

A. 45 kilometers per hour B. 60 kilometers per hour 

C. 75 kilometers per hour D. 90 kilometers per hour 

Q45. �� �?1 45 )� K/I�1 �)-  ?�O �ी 1o-?1 @O 540 )� K/I�1 �ी ?K1I -0 �1-I AP। �-)I AI ?K1I +A O @O �?O @/0 /O -0 �1)O �O  
) � �?1 �K )�-)I 1़㱸-?1 � )I �?)A�? 

 

A. 45 ��लK/Iट1 �-?  �ट? B. 60 ��लK/Iट1 �-?  �ट? 

C. 75 ��लK/Iट1 �-?  �ट? D. 90 ��लK/Iट1 �-?  �ट? 
 

Q46. Find the perimeter and breadth of a rectangular plot whose area is 240 square meters and 
length side is 20 meters? 

 

A. Breadth = 10 meters, Perimeter = 45 meters B. Breadth = 8 meters, Perimeter = 48 meters 

C. Breadth = 12 meters, Perimeter = 64 meters D. Breadth = 18 meters, Perimeter = 60 meters 

Q46. �� �0-?�?1 .K�?? �ी +र1@I/? �1 �L)?� ))�? O )?@�? �O}?  240 =�/ /I�1 AP �1  ?-?� 20 /I�1 AP| 
 

A. }L)?� = 10 /Iट1, +91// = 45 /Iट1 B. }L)?� = 8 /Iट1, +91// = 48 /Iट1 

C. }L)?� = 12 /Iट1, +91// = 64 /Iट1 D. }L)?� = 18 /Iट1, +91// = 60 /Iट1 
 

Q47. Two numbers are in the ratio 2:7. If the sum of their numbers is 81, find the numbers. 
 

A. 18, 63 B. 20, 61 

C. 24, 57 D. 25, 56 

Q47. ?K @?_0?� ? �? 
)J+?- 2:7 AP। 0)? �)�ी @?_0? �? 0K� 81 AP, -K @?_0?� ? �K +K?+O। 
 

A. 18, 63 B. 20, 61 

C. 24, 57 D. 25, 56 

 

Q48. When you use a fishing rod to catch fish, this is an example of ________ class of lever. 
 

A. 4th B. 1st 

C. 2nd D. 3rd 
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Q48. /� I +�))O �O  ) � �}-O/?  )�0? ??)O =? ? )?)>?� 1Q?, ________ ्䵦O,I �O   I=1 �? �??A1, AP। 
 

A. }L-? B. +:लI 

C. .9ू1I D. ?I91I 
 

Q49. The symbol of chemical element____________ is Ag. 
 

A. Silver B. Gold 

C. Mercury D. Platinum 

Q49. 1?@?0))� -त⑍= ____________ �? �-I� Ag AP। 
 

A. }?�.I B. 9K0? 

C. +?1? D. oलP/ट0/ 

 

Q50. Controlled breeding and rearing of fish is called _________________. 
 

A. Pisciculture B. Fish-o-nomy 

C. Piscifarming D. Aquarium 

Q50. /� I �O  ))0?)}- �?)) �1 +? ) �K _________________ �A? ??-? AP। 
 

A. /�लI +?ल0 B. �,?-ओ-0K/I 

C. /�लI �I �O?I D. /�लI 1 
 

Q51. Which diameter in screw thread is used to specify the size of the screw? 
 

A. Nominal Diameter B. Root Diameter 

C. Major Diameter D. Minor Diameter 

Q51. }िK  �@)O /O }िK  �O  ��?1 �K )))?/? (}+O)@??�) �1)O �O  ) � �L)@? }0?@ (??0/I�1) �+0K� /O ) 0? ??-? AP? 
 

A. 0K?/0ल ड?0/Iट1 B. yट ड?0/Iट1 

C. /O�1 ड?0/Iट1 D. /?�01 ड?0/Iट1 
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Q52. What do the bolt specification M20 X 100 mean? 
 

A. Metric threads with 20 mm length and 100 mm 

diameter 

B. Metric threads with 20 mm diameter and 100 

mm length 

C. Metric threads with 20 cm diameter and 100 

cm length 

D. Metric threads with 20 cm length and 100 cm 

diameter 

Q52. -Kल㉍� �O  }+O)@)?�O >) M20 X 100 �? ]0? /- - AP? 
 

A. 20 mm लम⹍-?� �=� 100 mm ड?0/Iट1 0I]? /I/्䵏� 

})ू)0?? (}Oड⅍9) 

B. 20 mm ड?0/Iट1 �=� 100 mm लम⹍-?� 0I]? /I/्䵏� 

})ू)0?? (}Oड⅍9) 

C. 20 cm ड?0/Iट1 �=� 100 cm लम⹍-?� =?लO /I/्䵏� })ू)0?? 
(}Oड⅍9) 

D. 20 cm लम⹍-?� �=� 100 cm ड?0/Iट1 0I]? /I/्䵏� })ू)0?? 
(}Oड⅍9) 

 

Q53. What type of cap screw is depicted in the image? 

 
 

A. Cheese head B. Fillister head 

C. Round head D. Counter sunk head 
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Q53. )�} /O �P + }िK  �? �L)@? ��?1 ?>?/0? �0? AP? 

 
 

A. }Iज़ :Oड B. �,?ल}ट1 :Oड 

C. 1?�ण⍍ड :Oड D. �?�mट1 9�� :Oड 
 

Q54. The bolt that is used to fix the heavy machines to stone or concrete foundation is: 
 

A. Loop bolt B. Curved bolt 

C. Lewis bolt D. Rag bolt 

Q54. .?1I />I)K �K +त⑍.1 0? �? िी� ??�??O>) +1 )?]@ �1)O �O  ) � �0J्䴹 -Kल㉍� AP: 
 

A. ल+ू -Kल㉍ट B. �}ड� -Kल㉍ट 

C. लOo=9 -Kल㉍ट D. 1O� -Kल㉍ट 
 

Q55. 

 
Refer the image above, what is the type of lettering used in Engineering Drawing? 

 

A. Double Stroke Vertical B. Gothic 

C. Single stroke Inclined D. Single Stroke vertical 
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Q55. 

 
)�} �K ?O�O, �??I))0र1?� ्䵑?�?� /O �0J्䴹 
). O� ( O�र1?�) �L)@I AP? 

 

A. ड-ल }्䵏K� =/ट��ल B. �K/-� 

C. ?9��ल }्䵏K� ��]ल?��ड D. ?9��ल }्䵏K� =/ट��ल 

 

Q56. In which type of scale, the representative fraction is equal to one? 
 

A. Enlarging Scale B. Full Scale 

C. Reducing Scale D. Minimized scale 

Q56. }�O   �O  )�@ ��?1 /O, �)-)))? 
?> �� �O  -1?-1 AK-? AP? 
 

A. �0ल?���ं }�O ल B. ,I ल }�O ल 

C. 91ड⅍0?ू9�� }�O ल D. ?/-0/?�जᱍड }�O ल 

 

Q57. In which quadrant, the object is above horizontal plane and behind the vertical plane? 
 

A. Second Quadrant B. First quadrant 

C. Third Quadrant D. Fourth Quadrant 

Q57. )�@ �-J.?�> (]=?्䵑O�) /O, =}-J �P)-? -  �O  �+1 �=?  ?-=- -  �O  +I�O AK-I AP? 
 

A. द♍o=?I0 }?I-?ं? B. �-/ }?I-?ं? 

C. ??ृI0 }?I-?ं? D. }?I-� }?I-?ं? 

 

Q58. Which one of the following method is not used in the construction of ellipse? 
 

A. Arcs of circles Method B. Concentric circles Method 

C. Tangent Method D. Oblong Method 

Q58. ?I /=Lm �ी 1�)? /O ))म⹍)) )�- /O @O �L)@I )=)? �? �0K� )Aी䀂 )�0? ??-? AP? 
 

A. ���  �, 9��� ल㉍9 o=// B. �� 9े䜂/्䵏� 9��� ल㉍9 o=// 

C. टे䜂�े䜂ट o=// D. �-लIm� o=// 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 45, Draughtsman (Mechanical) Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 17, 2019  Page 18 of 29 

 

 

Q59. What is the formula used in isometric scale, to convert the true length to isometric length? 
 

A. Isometric length = 0.816 X True Length B. Isometric length = 0.916 X True Length 

C. Isometric length = 1.816 X True Length D. Isometric length = 0.0816 X True Length 

Q59. =?}-)=�  ?-?� �K @/)/-I0  ?-?� /O +र1=-/) �O  ) � @/)/-I0 +P/?)O /O �L)@? @K} �+0K� /O ) 0? ??-? AP? 
 

A. 9/?/?I0 ल�-?� = 0.816 X =?}?o=� ल�-?� B. 9/?/?I0 ल�-?� = 0.916 X =?}?o=� ल�-?� 

C. 9/?/?I0 ल�-?� = 1.816 X =?}?o=� ल�-?� D. 9/?/?I0 ल�-?� = 0.0816 X =?}?o=� ल�-?� 
 

Q60. What will be the true shape, if the cutting plane cuts along the generators of a cylinder? 
 

A. Hyperbola B. Isosceles triangle 

C. Rectangle D. Ellipse 

Q60. =?}-)=� ��L )- ]0? AK�I, 0)? �)�?� o O) �� )@ O?1 �K ?))} (?)1O�1) �O  @A?1O �?�-? AP? 
 

A. 
-?+1=ल0(:?�+1-Kल?) B. 9/द♍o=-?:I -}.I� 

C. �0? D. .I �=्ृ䵈 

 

Q61. Which command in AutoCAD is used to copy the selected object to clipboard so that the 
object is removed from the drawing? 

 

A. COPY B. CUTCLIP 

C. REMOVE D. ERASE 

Q61. �0))- )=?0=}-J �K )] +-K?/ +1 �Q+I �1)O �O  ) � AutoCAD /O �L)@I �/??? �0J्䴹 AK-I AP -?)� )=?0=}-J ्䵑?�?� @O A� 
??�? 

 

A. COPY B. CUTCLIP 

C. REMOVE D. ERASE 
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Q62. What is meant by Archimedean spiral? 
 

A. The curve obtained by rotating the point in 

equal angular displacement, while the line moves 

with uniform angular velocity. 

B. The curve obtained by moving the point 

uniformly towards or away from the pole, while 

the line moves with uniform angular velocity. 

C. The curve obtained by moving the point 

nonuniformly towards or away from the pole, 

while the line moves with uniform linear velocity. 

D. The curve obtained by rotating the point in 

equal angular displacement, while the line moves 

with uniform linear velocity. 

Q62. �)�/ /O)?0) }+?�1  @O ]0? -?त⑍+0/ AP? 
 

A. +I��ट �K 9/?0 �K+I0 o=}-?+0 /े䜂  I/?0O +1 �?o? =्䵅 

�-�� 1O�?�� 9/?0 �K+I0 =O� 9O }ल?I :ै䠂। 
B. +I��ट �K 9/?0 z+ 9O +Kल �I ओ1 0? .1ू }ल?0O +1 �?o? 

=्䵅 �-�� 1O�?�� 9/?0 �K+I0 =O� 9O }ल?I :ै䠂। 

C. +I��ट �K 
9/?0 z+ 9O +Kल �I ओ1 0? .1ू }ल?0O +1 �?o? 

=्䵅 �-�� 1O�?�� 9/?0 1O�I0 =O� 9O }ल?I :ै䠂। 
D. +I��ट �K 9/?0 �K+I0 o=}-?+0 /े䜂  I/?0O +1 �?o? =्䵅 

�-�� 1O�?�� 9/?0 1O�I0 =O� 9O }ल?I :ै䠂। 
 

Q63. How do we call the auxiliary plane if it is perpendicular to HP and vertical to VP? 
 

A. Auxiliary vertical plane B. Auxiliary horizontal plane 

C. Auxiliary parallel plane D. Auxiliary perpendicular plane 

Q63. �)]?) �1I o O) �K ]0? �AO�O 0)? 0A HP �O   म⹍-=- AK �=? VP +1 �J�? (�?] ?�??) AK? 
 

A. ��]�?ल�1I =/ट��ल oलO0 B. ��]�?ल�1I :K91�ो䬂टल oलO0 

C. ��]�?ल�1I +O1Oलल oलO0 D. ��]�?ल�1I ++े䜂)ड�I ल1 oलO0 

 

Q64. What is the symbol used for convex double V butt weld? 
 

A.  B.  

C.  D.  
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Q64. �Qm=O]@ ?-  V -� =Oल㉍? �O  ) � �L)@? )�mA �0K� �1-O Aै䠂? 
 

A.  B.  

C.  D.  

 

Q65. What do the welding process symbol <GTAW= denotes? 
 

A. Gas Acetylene Welding B. Gas Torch Acetylene Welding 

C. Gas Torch Arc Welding D. Gas Tungsten Arc Welding 

Q65. =O)ल㉍??� �)ि0? /O "GTAW" @?�O - ]0? )�)mA- �1-? AP? 
 

A. �P9 �?9ट?�?ल0 =O�ल㉍ड�� B. �P9 टI}� �?9ट?�?ल0 =O�ल㉍ड�� 

C. �P9 टI}� ���  =O�ल㉍ड�� D. �P9 ट��}ट0 ���  =O�ल㉍ड�� 

 

Q66. Which is the key used on tapered shafts of machine tools and in the form of circular disc 
with uniform thickness? 
Note: The key belongs to type of sunk key. 

 

A. Saddle key B. Rectangle Key 

C. Peg feather key D. Woodruff key 

Q66. />I) �Kल㉍@ �O  �O+?/ >?o� +1 �=? �� @/?) /K�?� �ी =Lm?�?1 )?}� �O  z+ �0J्䴹 �?-I (�ी) �L)@I AP? 
 

)K�: �ी, @?� �ी �? �� ��?1 AP। 
 

A. 9Pडल �I B. 1O]टे䜂�ल �I 

C. +O� ,O .1 �I D. =ूड1, �I 
 

Q67. In which type of cotter joint, the one end of the rod is formed into U-fork? 
 

A. Socket and spigot cotter joint B. Gib and cotter joint 

C. Sleeve cotter joint D. Knuckle cotter joint 
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Q67. �Q�1 ?Q�?� �O  �L)@O ��?1 /O �? �? �� �K1 U-fork /O 1)�- AK-? AP? 
 

A. 9I�O ट �=� �}+�ट �Iट1 �I��ट B. /�- �=� �Iट1 �I��ट 

C. }लI= �Iट1 �I��ट D. 0�ल �Iट1 �I��ट 
 

Q68. What is the use of reducing socket? 
 

A. Close the end of pipes with internal threads B. Connect the pipes at right angles 

C. Connect two pipes of different diameter D. Restrict the fluid passage 

Q68. र1?M0K)@?� @Q�O � �? ]0? �+0K� AP? 
 

A. �m?91� 1O?ो䬂 द♍=?1? +?�+ो䬂 �O  �K1 �K -m. �1?? :P B. +?�+ो䬂 �K 9/�K+ +1 �K)?? :P 

C. ?.m0 ड?0/Iट1 �O  .K +?�+ो䬂 �K �K)?? :P D. ?1ल �O  /?�� �K 1K�?? :P 
 

Q69. Which pipe joints are used to join pipes in boiler houses and pumping stations where there 
should be no leakage of fluids? 

 

A. Brazed joint B. Grooved joint 

C. Flanged joint D. Soldered joint 

Q69. -Q0 1 A?�@K �=? +)म⹍+?� }�O>)K ?A?? -1  �?  I�O ? )Aी䀂 AK)? �?)A�, +?�+K �K ?K))O �O  ) � �L)@O ?Q�?�@ �? �0K� )�0? ??-? 
AP? 

 

A. }O़㱩ड �I��ट B. ्ू䵇}ड �I��ट 

C. oले䜂जᱍड �I��ट D. 9Kल㉍डड� �I��ट 
 

Q70. What is the formula used to calculate margin in rivets? 
Note: d is the rivet diameter 

 

A. m=1.5d B. m=0.5d 

C. m=1.15d D. m=0.05d 
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Q70. र1+�(र1=O�) /O /?)?/) �ी �,)? �O  ) � �L)@O @K} �? �0K� )�0? ??-? AP? 

)K�: d र1+� �? ??0/I�1 AP। 
 

A. m=1.5d B. m=0.5d 

C. m=1.15d D. m=0.05d 

 

Q71. Which process is used to produce air tight riveted joints? 
 

A. Chaining B. Caulking 

C. Strapping D. Joining 

Q71. =?0J1K?I र1+�0J्䴹 (र1=O�O?) ?Q�?� �O  ))/?/, �O  ) � �L)@I �)ि0? �? �0K� )�0? ??-? AP? 
 

A. }O-0�� B. �L�ल㉍�� � 

C. }्䵏Oo+�� D. �I�-0�� 

 

Q72. 

 
The above punch is used to drive retainer pins in or out of the object. Identify the punch 
from the following options: 

 

A. Drift punch B. Prick punch 

C. Pin punch D. Center Punch 

Q72. 

 
�+1 )}.- +?�, =}-J /O र1�O)1 )+) �K .I-1 -?A1 � ?)O /O �0J्䴹 AK-? AP। ))म⹍)) )�- )=�ल㉍+K /O @O +?� �ी +A�?) �1O: 

 

A. )्䵑oट +�} B. o�� +�} 

C. o+0 +�} D. 9Omट1 +�} 

 

Q73. In Lathe, which body part is placed on the left hand side of bed which is used to hold gear 
chain, speed chains and spindle? 

 

A. Chuck B. Head Stock 

C. Tail Stock D. Tool Post 
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Q73. �1?? ( O.) /O, �L)@? -Q?I +?�/ -O? �ी -??0I �1 1�? ??-? AP ?K )� )�01 �P), }+I? �P) �=? )}+??  �K +�))O /O �0J्䴹 AK-? AP? 
 

A. }� B. :Oड }टI� 

C. टOल }टI� D. टूल +K}ट 
 

Q74. Which one of the following does not come under DC Motor? 
 

A. Series Wound B. Shunt Wound 

C. Synchronous Motor D. PMDC Motor 

Q74. ))म⹍)) )�- /O @O �L)@? DC /K�1 �O  -A- )Aी䀂 �-? AP? 
 

A. 9I1I9 =?�ण⍍ड B. ?�ट =?�ण⍍ड 

C. ?9m्䵅K09 /Kट1 D. PMDC /Kट1 
 

Q75. In some machines, the surfaces need additional machining and this has to be recorded on 
the drawing. If the material in the surface is not allowed to be removed, then what would 
be the symbol used? 

 

A.  B.  

C.  

D.  
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Q75. �J � />I)K /O, @1?O @K �K 
)-र1्䴹 />I))?� �ी �=�0�-? AK-I AP �=? �@O ्䵑?�?� +1 र1�Q?/ )�0? ??-? AP। 0)? @1?O @ /O /O�Oर10  

�K A�?)? 
)J/- )AI AK -K �L)@? @?�O - �0K� )�0? ??��?? 
 

A.  B.  

C.  

D.  

 

Q76. Which key is used in half-lap muff coupling to make the coupling? 
 

A. Sleeve key B. Saddle key 

C. Sunk Key D. Round key 

Q76. A??- O+ /? �+) ?� /O �+) ?� -)?)O �O  ) � �L)@I �?-I (�ी) �0J्䴹 AK-I AP? 
 

A. }लI= �I B. 9Pडल �I 

C. 9�� �I D. 1?�ण⍍ड �I 
 

Q77. Which shaft is supported by collar thrust bearing under axial load? 
 

A. Pedestal Shaft B. Parallel Shafts 

C. Vertical Shaft D. Horizontal shaft 

Q77. �)]@0   K? �O  
m-�/- �L)@I >?o�, �Q 1 .L}� )-0र1?� �?1? @+K�O? AK-I AP? 
 

A. +OडO}टल ??oट B. +O1Oलल ??oट 

C. =/ट��ल ??oट D. :I91ज़I �टल ??oट 
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Q78. What is the purpose of crowning in pulleys? 
 

A. Prevents axial slipping of belt B. To increase the power transmission 

C. To increase the contact area between the belt 

and pulley 

D. To take care of idling time 

Q78. �1?र10K(+J I) /O ि?�))?� �? ]0? �oO�0 AP? 
 

A. -Oल㉍ट �I ��]90ल �}लo+�� �K 1K�0? B. +?=1 ्䵏?�9?/?0 �K -??0? 

C. -Oल㉍ट = �1?1I �O  -I} 9म⹍+��  ्䵌O} �K -??0? D. 9I}?I(��ड?ल��) �O  9/0 �? _0?ल 1�0? 
 

Q79. The production drawings are also called as: 
 

A. Sub assembly diagram B. Working diagram 

C. Tool diagram D. Machine diagram 

Q79. �त⑍+??) ्䵑?�?� �K 0A .I �A? ??-? AP- 
 

A. 9- 
9Oम⹍-लI ड?0?्䵇?/ B. =��ं� ड?0?्䵇?/ 

C. टूल ड?0?्䵇?/ D. /?I0 ड?0?्䵇?/ 

 

Q80. Which component in AutoCAD screen is used to draw the lines only at right angles on the 
screen? 

 

A. Snap B. Grid 

C. Ortho D. Polar 

Q80. }िी) +1 �O =  @/�K, +1 1O�?� ? -)?)O �O  ) � AutoCAD }िी) /O �L)@?  �� (�? +K)O�) �?/ /O ) 0? ??-? AP? 
 

A. }0?+ B. /्䵇ड 

C. �-ो D. +Kल1 
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Q81. 

 
What array is displayed in the image above? 

 

A. Rectangular array B. Polar array 

C. Circular array D. Path array 

Q81. )I�O )�} /O �L)@? }0KA (�1O) ?>?/0? �0? AP? 

 
 

A. �0??�?1 }0ू: B. �I=I0 }0ू: 

C. =्ृ䵈?�?1 }0ू: D. +- }0ू: 
 

Q82. What is the arc symbol used in arc length dimensions that differentiates it from angular 
and linear dimensions? 

 

A. Hat B. Arc 

C. Blow D. Curve 

Q82. ��/   O. ??�/O>) /O �L)@? ��/  @?�O - �0K� )�0? ??-? AP ?K )� �@O �K,I0 (�?�J 1) �=? 1O�I0 ( ?�))01) ??�/O>) @O 
 � 
�1-? AP? 

 

A. :Oट(Hat) B. ��� (Arc) 

C. mलK(Blow) D. �=�(Curve) 

 

Q83. What are the methods available to make ellipses in AutoCAD? 
 

A. By means of axis end points and By means of 

edges, axis end points 

B. By means of axis end points and By means of 

center, axis end points 

C. By means of sides and By means of edges, axis 

end points 

D. By means of sides and By means of axis end 

points 
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Q83. AutoCAD /O ?I /=Lm -)?)O �O  ) � �L)@O -1I�O  �+ m? Aै䠂? 
 

A. ��]99 ��ड +I��टὍ9 द♍=?1? �=� �ड⅍�9, ��]99 +I��टὍ9 द♍=?1? B. ��]99 ��ड +I��टὍ9 द♍=?1? �=� 9े䜂ट1, ��]99 ��ड +I��टὍ9 

द♍=?1? 

C. 9?�ड⅍9 द♍=?1? �=� �ड⅍�9, ��]99 ��ड +I��टὍ9 द♍=?1? D. 9?�ड⅍9 द♍=?1? �=� ��]99 ��ड +I��टὍ9 द♍=?1? 
 

Q84. ZOOM command is used to change the display scale of the drawing. What is the use of the 
sub option "DYNAMIC" under the ZOOM command? 

 

A. The objects are moved to the left side of the 

display screen 

B. The objects in the drawing are magnified to a 

large extent 

C. Display the portion of the drawing specified 

already 

D. The objects are aligned to the center of the 

display screen 

Q84. ्䵑?�?� �O  )?}o O }�O   �K +र1=)-/- �1)O �O  ) � ZOOM �/??? �? �0K� )�0? ??-? AP। ZOOM �/??? �O  
m-�/- @- 
�o>)"DYNAMIC" �? ]0? �+0K� AP? 

 

A. �m�O]टὍ9 �K )ड}oलO }्䵅I0 �O  -?�0I ओ1 ��9�?0? �??? :P B. ्䵑?��� /े䜂 �m�O]टὍ9 �K �?,I :. ?� -??0? �??? :P 

C. ्䵑?��� �O  +:लO 9O -0/.��ट .?� �K �.??�? �1?? :P D. �m�O]टὍ9 �K )ड}oलO }्䵅I0 +1 �O m� /े䜂 9�1O��? �1?? :P 
 

Q85. Which command in AutoCAD is used to generate line entities for the pattern chosen and 
fill an area of an object? 

 

A. Block B. Attribute 

C. Dimension D. Hatch 

Q85. AutoCAD /O �0))- +O�)/ �ी 1O�I0 @?1�)?� ? �K -)?)O �=? �� �m?O]� �O  �� �O} �K .1)O �O  ) � �L)@I �/??? �? �0K� 
)�0? ??-? AP? 

 

A. mलI� B. �/्䵏m0टू 

C. ड?�/े䜂?0 D. :O} 

 

Q86. Which one of the following command belongs to UTILITY command? 
 

A. END B. QUIT 

C. SAVE D. COPY 
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Q86. ))म⹍)) )�- /O @O �L)@I �/??? UTILITY �/??? @O @म⹍-)m?- AP? 
 

A. END B. QUIT 

C. SAVE D. COPY 

 

Q87. What is the shortcut key used to select the ORTHO button on the status bar? 
 

A. F4 B. F8 

C. F5 D. F6 

Q87. }�O�@ -?1 +1 ORTHO -�) �K �0))- �1)O �O  ) � �L)@I >Q�/�� �ी �? �0K� )�0? ??-? AP? 
 

A. F4 B. F8 

C. F5 D. F6 

 

Q88. In which modelling, number of 3D solids are considered as primitives? 
 

A. 3D Wireframe B. 2D Wireframe 

C. Solid Modelling D. Surface Modelling 

Q88. )�@ /Q?) ?� /O, 3D @Q) ?M@ �ी @?_0? �K )�)/)�= /?)? ??-? AP? 
 

A. 3D =?01�O / B. 2D =?01�O / 

C. 9K?लड /Iड?ल�� D. 91,O 9 /Iड?ल�� 

 

Q89. Complex solids can be built from 3D basic primitives. If an ellipse is to be drawn with a 
circular base, then which command is to be used? 

 

A. Apex B. Diameter 

C. Elliptical D. Centre 

Q89. ?)�   K@(@Q) ?M@) 3D -O)@� )�)/)�= @O -)?� ?? @�-O Aै䠂। 0)? �� @�J/  1 -O@ @O �� ?I /=Lm -)?)? AK -K �L)@I �/??? 
�0J्䴹 AK�I? 

 

A. 
+O]9 B. ड?0/Iट1 

C. �?ल�oट�ल D. 9Omट1 
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Q90. What operation is used in creating composite solid from solid primitives and swept solids? 
 

A. Boolean B. Arithmetic 

C. Logarithmic D. Exponential 

Q90. @Q) ? )�)/)�= �=? }=Oo� @Q) ? @O �म⹍+K)?� @Q) ? -)?)O �O  ) � �L)@O �+1O>) �? �0K� )�0? ??-? AP? 
 

A. -?ूल00 B. 
91-/O/ट� 

C. लK�91थ╍/ D. �]9+K0O�m?0ल 
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